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401 A& HIZ 201 I 6,000 6,000 0
03 Al SR THHI 6,000 6,000 0
OEAJIZNHeE & 2elH = 6,000
SANAHEEZ 14,064,000 18,686,285 A4,622,285
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Al 12,823,000
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Xl 1,100,000
< 141,000
Al 331,000
401 AIEHI L 2 CHYI 1,572,000 948,571 623,429
Xl 1,100,000
< 141,000
Al 331,000
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OzS3=XE 2 8 1,572,000
Xl 1,100,000
= 141,000
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401 Al HI K 201 I 500,000 600,000 100,000
01 A& Bl 500,000 600,000 A 100,000
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SO~ . EESARL TAHEEZZ2HE 1,000,000 700,000 300,000
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— A1) 141
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A X 1,114,600 942,400 172,200
Xl 52,000
T 100,000
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202 O B 10,000 10,000 0
01 2L Y| 10,000 10,000 0
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203 &R =&H| 10,000 14,000 A 4,000
03 A =X SR =XH| 10,000 14,000 A 4,000
Olteg&eadaX =484 22F4 10,000
403 ItXISH XS K201 700,000 250,000 450,000
02 S| 2SO0l CHstCH & At bl 700,000 250,000 450,000
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405 XtabF S| 7,200 0 7,200
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307 21201 A 200,000 50,000 150,000
< 100,000
Al 100,000
04 QIZFHALAIR B = 200,000 50,000 150,000
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< 100,000
Al 100,000
BHAA SR = o 143,500 552,000 A 408,500
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Al 91,500
202 O4dl 3,000 3,000 0
01 S LHAYI 3,000 3,000 0
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01 A& Bl 130,000 200,000 A70,000
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03 Al 2 THHI 1,500 0 1,500
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201 LBt 22,368 22,368 0
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O=U o di 66,360
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